A car leaves at 8.00 am. It travels at 70km/h for four hours. Show its rate of travel on a line graph.

	time
	8.00
	9.00
	10.00
	11.00
	12.00

	distance travelled by car
	0
	70
	140
	210
	280
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Suppose two cars travel in the same direction at different speeds. The first car A leaves at 8.00 am and travels at 70 km/hour. The second car B leaves at 9.00am and travels at 90km/h. Will car B overtake car A? If yes, at what distance from their starting point?

We can put this information into a table like this:

	time
	8.00
	9.00
	10.00
	11.00
	12.00
	1.00

	car A's distance travelled
	0
	70
	140
	210
	280
	350

	car B's distance travelled
	0
	0
	90
	180
	270
	360


As a line graph it looks like this:
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It is now easy to read from the graph when car B passes car A and at what time. Sometimes it may be a little difficult to read accurately from the graph, so your answer will be an approximation.

